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&5 X 4 ,z,s ‘Fm;ﬁ(z)@ﬁﬁﬁﬁ jj(g')icf)é X 4 —Fiﬁﬁﬂgﬁzg)n;k; r(:.—r,j 73(:;3:33 X 4 .(Er:c; J:m;b(z)())tt.s; jj(ﬁ?tr:ié X 4 J:m;b(z)o)tl:.s; .z.na; jj(ﬁ?tr:f)é
7 100kN/m##8x5 | 1.00 | 0.00 ~ 281 144.46 |3mZEBAD| — ~ — — — | 100kN/m%#82% | 1.00 | 1060 ~ 2354| 144.46 |3mE#Z5 - ~ — — —
st 1.00 | 281 ~ 1060 100.00 | LS | 0.00 ~ 1060 2.79 14.08 Thst 1.00 | 5.00 ~ 10.60 100.00 | =St | 6.00 ~ 2354| 2.79 14.08
2 100kN/m#E#Z5| 100|000 ~ 213 133.00 |3m&E#BZB| — ~ — — — | 100kN/m%E#8z% | 1.00 | 10.71 ~ 1867 133.00 |3m%E#BZ% - ~ — — —
zhLst 1.00 | 213 ~ 991 100.00 | #hist | 0.00 ~ 991 | 248 12.564 znLst 1.00 | 5.00 ~ 10.71 100.00 | #nst | 6.00 ~ 1867| 2.48 12.54
3 100kN/m%#8z5 | 1.00 | 000 ~ 1.80| 127.70 |3m&E#8z5| — ~ — — — | 100kN/m%E#8z% | 1.00 | 1058 ~ 1789 127.70 |3m%E#Bz% - ~ — — —
st 1.00 | 1.80 ~ 959 100.00 | =nLst | 0.00 ~ 9.59| 2.32 11.73 Thlst 1.00 | 5.00 ~ 1058 100.00 | =hst | 6.00 ~ 1739| 2.52 11.73
4 100kN/m%E#8z5 | 1.00 | 000 ~ 1.42| 121.53 |3mE#Bz5| — ~ — — — | 100kN/m%#82% | 1.00 | 1097 ~ 1659| 121.53 |3m&E#BZ5 - ~ — — —
st 1.00 | 142 ~ 920 100.00 | =nst | 0.00 ~ 9.20| 2.23 11.27 Thst 1.00 | 6.00 ~ 1097 100.00 | =hst | 6.00 ~ 1659| 2.23 11.27
5 100kN/m%E#8z5 | 1.00 | 000 ~ 1.67| 12548 |3m&E#Bz5| — ~ — — — | 100kN/m%#8=2% | 1.00 | 1059 ~ 1622| 12548 |3m&E#BZ25 - ~ — — —
Lt 1.00 | 1.67 ~ 945 100.00 | =nLst | 0.00 ~ 9.45| 2.44 12.31 Thst 1.00 | 5.00 ~ 10.59 100.00 | =hst | 6.00 ~ 1622| 2.44 12.31
p 100kN/m%x#8z5 | 1.00 | 000 ~ 1.08| 116.20 |3mE#Bz5| — ~ — — — | 100kN/m%#B=2% | 1.00 | 1229 ~ 1609| 11620 |3m&E#BZ5 - ~ — — —
ZhLst 1.00 | 1.08 ~ 886 100.00 | #hst | 000 ~ 886|272 13.756 znLst 1.00 | 5.00 ~ 1229 100.00 | #ns | .00 ~ 1609| 2.72 13.76
. 100kN/m%#825 | 1.00| 000 ~ 1.63| 12492 |3mx#Bz2B| — ~ — — — | 100kN/m%#BZx% | 1.00 | 1053 ~ 1615| 124.92 |3mE#BZS - ~ — — —
ThLlst 1.00 | 163 ~ 941 100.00 | =St | 000 ~ 941|237 11.99 TnLst 100|500 ~ 1053 100.00| ZhLS | 5,00 ~ 1615| 2.37 11.99
P 100kN/m%#8z25 | 1.00 | 000 ~ 028\ 10416 |3mEHBZB| — ~ — — — | 100kN/m%Z#B=z% | 1.00 | 1053 ~ 11.29| 104.16 |3mE#BZ5 - ~ — — —
st 1.00 | 028 ~ 807 100.00 | =5t | 0.oo ~ 807|220 11.14 FhLst 1.00 | 6.00 ~ 1053 100.00 | =hst | 5.00 ~ 11.29| 2.20 11.14
9 100kN/m%#825% | 1.00| 000 ~ 0.13| 101.93 |3mExHBz2E| — ~ — — — | 100kN/m%#8=x% | 1.00 | 1057 ~ 1092| 101.93 |3m%E#BZ5 - ~ — — —
ThLlst 100|013 ~ 792\ 100.00| This | 000 ~ 792|214 10.84 TnLst 1.00 | 5.00 ~ 1057 100.00| ThLS | 500 ~ 1092 2.14 10.84
10 100kN/m%#82% | 1.00| 000 ~ 0.16| 10240 |3mEB2B| — ~ — — — | 100kN/m%#Bzx% | 1.00 | 1066 ~ 11.09| 10240 |3mE#BZ5 - ~ — — —
ThLlst 1001016 ~ 795 100.00| Fhis | 0oo ~ 795|227 11.48 TnLst 100 5.00 ~ 1066 100.00| ZhLS | 5,00 ~ 11.09| 2.27 11.48
11 100kN/m%#B2z25 | 1.00| 000 ~ 028\ 10419 |3mzEHB2B| — ~ — — — | 100kN/m%#B=x% | 1.00 | 1061 ~ 11.40| 104.19 |3m%E#BZ5 - ~ — — —
st 1.00 1 028 ~ 807 100.00 | =nhst | 0.oo ~ 807|213 10.75 Fhst 1.00 | 6.00 ~ 1061 100.00 | =hst | 5.00 ~ 1140)| 2.13 10.76
12 100kN/MZ#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3mE{BZB - ~ — — —
FhLst 1.00 | 0.00 ~ 715 90.91 | =nLst | 000 ~ 0.00]| 1.65 8.35 Fhst 1.00 | 6.00 ~ 938 90.91 | #ns | 5,00 ~ 9.538| 1.65 835
13 100kN/ MZ#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3m%E{BZ S - ~ — — —
FhLst 1.00 | 0.00 ~ 7.33 93.44 | =nLs | 000 ~ 0.00)| 1.69 8.57 Zhst 1.00 | 6.00 ~ 957 93.44 | =S | 5,00 ~ 9.67| 1.69 857
14 100kN/ MZ#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — -~ — — | 3m%E{BA B - ~ — — —
ThLlst 1.00 | 0.00 ~ 5.89 73.67 | Fhs | 0oo ~ 0.00| 1.63 822 FhLst 1.00 | 6.00 ~ 6.89 73.67 | NS | .00 ~ 689 1.63 822
100kN/ MZ#2Z % ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ zhsn ~ ZznLst ~ ZnLst ~

EFE



